
 
 
 
 
           SUBJECT : MATHS     Total Marks : 10 

CHAP - 1 

Std : 9th                                   Weekly Test                      [1 x 3 = 3] 

       1 The absolute value of  ∣ - 23 ∣ is 

(A)   - 23       (B)   23           (C)    0                      (D) None 

        2 The smallest prime number is 

(A)    0       (B)   2              (C)    1                      (D) None 

        3 The smallest whole number is 

(A)    0       (B)   2              (C)    1                      (D) None 

SOLVE (Any two)       [2x2 = 4] 

        4    Find six rational numbers between 3 and 4    

        5   Locate  on the number line                                                             

        6  TRUE OR FALSE        

(i) Every integer is a rational number 
(ii) Every rational number is a integer. 
(iii) Every whole number is a Natural number  
(iv) Every integer is a whole number 

SOLVE (Any one)       [1x3 = 3] 

 

        7 Express 3. 142678 in the form                                                           

         8 Visualize 3.765 on the number line, using successive magnification.  

 


